NAMES Quiz #7:
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The conducting bar moves to the right at constant velocity "v'" on two
frictionless conducting rails which are parallel and separated by a
distance "1, The conducting rails are connected to a resistor "R" to form
deomplete circuit as depicted in the diagram. A uniform magnetic field
ot ol the page exists everywhere.

a7 opts | What s the magnitude of the current through the resistor in
terms ol ve B, L and R? !
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L) 13 0t What direction is the current through resistor R? Explain your
answer,
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